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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The quantities xz#,_, yzE and
V-0 €0 B

1 g :
z=—— are defined where C-capacitance,

R-Resistance, [-length, E-Electric field,
B-magnetic field and € e - free space
permittivity and permeability respectively.
Then :
Options :

Only x and y have the same
40503642816, dimension.

Only y and z have the same

40503642817, dimension.

an}? ¥ and z have the same

40503642818, Gimension.

40503642819. x, iy and z have the same dimension.

Question Number : 1 Question Id : 40503611831 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afz TR x, y, 2 W R x=——,
Hp€o

B o1 " .
LJ:E A Zzﬁ%ﬁ%’ff-ﬂ[ﬁﬁf. R-HT14,

|-eEE, E-99d 94, B-gEag a9 3N ¢,
pg-TETd i TerEpeeiieran us SrEeh e,
FHI: T A

Options :

40503642816, T X T y T T ferend €
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40503642817, TG y A1 z T HAA T g

40503640818, P x Tl z I WM ToHrd

40503642810, x,y 91 z %1 THH faEE 2

Question Number : 2 Question Id : 40503611832 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The velocity (v) and time (t) graph of a
body in a straight line motion is shown in
the figure. The pointS is at 4.333 seconds.
The total distance covered by the body in

hsis:
A B
v (m/s) 4 TN,
ol /7 \
1 0 S Dt (ins)
—Zl 123 4556
C
Options :
37
T m
40503642820,
40503642821, 11 m
”
— M
40503642822, +
g
40503642823, 12 M
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HE T H fasie UF fqueE @ 99 (1) 6
WY A (v) F T T IE H 9 T
fag s, 4333 fFre w31 vz gmes &

A B
v (m/s) 41‘ /,,f' "m\
/

2
I ol N8 D ¢ (s®)
l 123 4\5/6

Options :
37
—m
40503642820.

40503642821, 11 m

49
—:' I
40503642822, +

40503642823.

Question Number : 3 Question Id : 40503611833 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A spaceship in space sweeps stationary

interplanetary dust. As a resull, its mass

dM(t)
dlt

v(t) is its instantaneous velocity. The
instantaneous acceleration of the satellite

increases al a rate

—bo? (t), where

is :
Options :
b’
40503642824, MU
bo
40503642825, U
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bo?

2 M(t)

40503642826.

~bod(t)
40503642827.
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HaRe | UH A& 9F, el & == F g
THE FA T FOW 8| TREEEy 36
dAM(t)
dt
o(t) AEfOTE 371 B 1 SiAie A %1 A
O
Options :

FS A2 bo? (1) T W

2l ) I-‘3
40503642824, MU
bo®
ML)
40503642825
bo?
2 ML)
40503642826 :
—bo(t)
40503642827,
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A ring is hung on a nail. It can oscillate,
without slipping or sliding (i) in its plane
with a time period T, and, (ii) back and

forth in a direction perpendicular to its

plane, with a period T,. The ratio b win

Ty
be :
Options :

40503642828.

40503642829.

40503642830, ¥

40503642831.

Question Number : 4 Question Id : 40503611834 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
T BT U A W AN G| T2 (i) AH
Tqae | fa1 9 @ ffeel T, sAedasa o
ST T2 Tl € 3T (i) ST7 9T & or==d
fem # T, AEd®Ha 9 #A6-9 Ser 9
TFa 2 | aﬁfna.%? 2T ;

2

Options :

W M

40503642828.

2
-

40503642829.
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40503642830. ¥

40503642831.

Question Number : 5 Question Id : 40503611835 Question Type : MCQ Option Shuffling : Yes Display
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The acceleration due to gravity on the
earth’s surface at the polesis g and angular
velocity of the earth aboul the axis passing
through the pole is w. An object is
weighed at the equator and at a height h
above the poles by using a spring balance.
If the weights are found to be same, then
h is : (h<<R, where R is the radius of the
earth)

Options :

40503642832.

40503642833. o

40503642834, 58

2o

40503642835. =
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YeEt 1 TeiE % YAl T I g § e
sgal T S ATl 481 3 Gre gt i Fi
T ‘w’ T TH T H UR Y T a9
a9 ‘W FEE W U FHACE gel GR1 AT
T FfE A R S A Se I S g,
@9 91 h 19 80 : (h<<R, 5@ R =&
&1 e ®)

Options :

v

Rzm"

¥
b

40503642832.

40503642833. o

40503642834, 58

R2w2

2o

40503642835. =

Question Number : 6 Question Id : 40503611836 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two different wires having lengths L; and
L,, and respective temperature coefficient
of linear expansion a; and «,, are joined
end-to-end. Then the effective temperature
coefficient of linear expansion is :

Options :
(rq 0ty Lo14

ajtay (Ly+Lq)

4
40503642836.

o+ o

40503642837. 2
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a7 Ly tasLs

40503642838. Ly+Lly
?. l'l:'il [‘l'z
40503642839.
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<1 TeT TR i TFEgal L, a4 L, € UE I
T WY WER O, FE, o, 99 ap B
Afg 39 ARl & Fadi =1 e 5/ 91 996! W
THR A9 T BT

Options :

1 0 oy LELI
ey + tin 2

40503642836, 142 (Latly)

0y f %)
40503642837. 2
40503642838,  “17L2

Efﬁlﬁz
40503642839.
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In an experiment to verify Stokes law, a
small spherical ball of radius r and
density p falls under gravity through a
distance h in air before entering a tank of
water. If the terminal velocity of the ball
inside water is same as its velocity just
before entering the water surface, then the
value of h is proportional to :

(ignore viscosily of air)

Options :

40503642840, T

%
40503642841, T~

40503642842, T

40503642843. T

Question Number : 7 Question Id : 40503611837 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 4 Wrong Marks : 1
= e geifora #91 F fau s wdligm H
T BTEl el foaeh] 541 r Td 99 p T, U
Wt F HE ZHT F Hag U h I8 9 [EEE
o3 % St e S g 9fE el e
H 9T 9 Tid T8 IHI S HHEE 9 9=
H A7 % S 81 1 h, r T 59 TR FEI
T ¢ (AT I THEE TE o)

Options :

40503642840. T

2
40503642841, F

40503642842, T°

_.1_
40503642843, T
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Question Number : 8 Question Id : 40503611838 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In an adiabatic process, the density of a
diatomic gas becomes 32 times ils initial
value. The final pressure of the gas is found

lo be n imes the initial pressure. The value

ol nis:

Options :

40503642844, 128
1

40503642845. 32

40503642846, 2

40503642847, 326

Question Number : 8 Question Id : 40503611838 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

i wom 9w 8 v fgwas | o
T el 91 32 A1 §1 Wi | Wi % S
H g 1 2919 3F TE % 919 T n T 9
Eﬂ?ﬂ'%l n &1 HH 20 ;

Options :

40503642844, 128
1

40503642845, 02

40503642846, 2

40503642847, 326
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Question Number : 9 Question Id : 40503611839 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A driver in a car, approaching a vertical
wall notices that the frequency of his car
horn, has changed from 440 Hz to 480 Hz,
when it gets reflected from the wall. If the
speed of sound in air is 345 m/s, then the

speed of the car is:

Options :

40503642848, >+ km/hr

40503642849, 0 km/hr

40503642850, 2% km/hr

18 km/hr
40503642851.

Question Number : 9 Question Id : 40503611839 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U FW UF AR F OWE A @ L hF
=T 31 T ifed e € e = e
o AR W 2 AT AT € o 39 g
440 Hz § 99077 480 Hz 1 9Tl 2| A5 91

T = &1 =16 345 m/ s B A1 FE 61 = T
el ?

Options :

40503642848, >+ km/hr

40503642849, -0 km/hr

40503642850, 2+ km/hr
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18 km/hr
40503642851.

Question Number : 10 Question Id : 40503611840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Ten charges are pIaced on the

circumference of a circle of radius R with

constant angular separation between

successive charges. Alternate charges 1, 3,
5,7, 9 have charge ( + q) each, while 2, 4, 6,

8, 10 have charge (— q) each. The potential

V and the electric field E at the centre of

the circle are respectively :
(Take V=0 at infinity)
Options :
40503642852, V=0;E=0

v=0; g=—109
40503642853. 4megR
_10q CE=0
dmep R f
40503642854.
. 100 . i 10
"'u =7 ﬁ p Lz—qz
40503642855. wEG 4megR

Question Number : 10 Question Id : 40503611840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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=0 R & U%F 99 &I 919 T/ 10 59 uH
T T ¥ Y FE A F e S
T HAATE | THL A& 1,3,5,7,9 F I
FEA: (+q) TG AR 2, 4, 6, 8, 10 F FN

FAY: (—q) ANV E| I F F5 WA (V)
AR fa=a &= (E) =0

(3191 T V=0 Fifem)

Options :

40503642852, V=0;E=0

40503642853. dmegR
_ 109 .g_g
;l*rrEﬂRr
40503642854
o 10g . 10
E-'=Jr qP ; pe 4 5
40503642855. TR dmepR

Question Number : 11 Question Id : 40503611841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor has plate of
length °I’, width “w’ and separation of
plates is ‘d". It is connected to a battery of
emf V. A dielectric slab of the same
thickness ‘d’ and of dielectric constant
k=4 is being inserted between the plates
of the capacitor. At what length of the
slab inside plates, will the energy stored
in the capacitor be two times the initial

energy stored ?

Options :

40503642856, /3

40503642857, 2/3
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40503642858, /2

40503642859. /4

Question Number : 11 Question Id : 40503611841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T U W2 J9H &1 W2 &1 = T,
Srer ‘W' AN IF w1l o o w1 d B
SHF| U {9 91e 9 (emf) V. 9Tl a2
W W ¥ SH ORE ‘4’ R wEEaE
k=4 ¥F UF WY 2% FI AT Fl @2
& o JEE A & e % et e
e A W, S ¥ HfEd e geel aret
Options :

40503642856, /3

40503642857, /3

—

40503642858, /2

40503642859. /4

Question Number : 12 Question Id : 40503611842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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[n the circuit, given in the figure currents
in different branches and value of one
resistor are shown. Then potential at point

B with respect to the pnint Alds

2V
E W ll‘I"\."ﬂ".l D I I | f
1 ﬂjf |
< =20
[ I
A M AVAVLY F
W< 2A
Options :
40503642860, T 1V
40503642861, — 1V
40503642862, T2V
40503642863, 2V

Question Number : 12 Question Id : 40503611842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

a3 /3 ufrey # fafa= smaedi § am sin v
wfadiy #1 7 fem@ T 1 fog A % Tmw
ﬁgBﬁTfﬁl”ﬁ%:

2V
E MM— H B
1A J |
=20
Psr {1 [ AAA :
1'1'} i Y
Options :

40503642860, T 1V

40503642861, ~ 1V

40503642862, T2V
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2V
40503642863.

Question Number : 13 Question Id : 40503611843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the circuit shown, charge on the 5 pF

capacitor is :

|
| |
6v O v

Options :

40503642864, -3 BC

40503642865 16-30 pC

40503642866, 1090 nC

40503642867, 18:00 pC

Question Number : 13 Question Id : 40503611843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
& 1 wftgy # WA 5 uF T e ¥

2 uF 4 uF
| ||
[ I

wF

|
11
Ln
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Options :

40503642864, 212 BC

40503642865, 16-36 pC

40503642866, 10-20 nC

40503642867, 18:00 pnC

Question Number : 14 Question Id : 40503611844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An infinitely long straight wire carrying
current I, one side opened rectangular loop
and a conductor C with a sliding
connector are located in the same plane,
as shown in the figure. The connector has
length I and resistance R. It slides to the
right with a velocity v. The resistance of
the conductor and the self inductance of
the loop are negligible. The induced
current in the loop, as a function of
separation r, between the connector and
the straight wire is :

one side opened long
c conducting wire loop

-ﬂ [ol

40503642868, T R
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o Il

40503642869, 27 Rr

By 2ol
40503642870, T Rr

2uy Tol

40503642871, T Rr

Question Number : 14 Question Id : 40503611844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Halfed 9R [ el U FA= o ars &1 o=l
HiYT a1, UF T H G AFEEE o9 37
femaT am ddmeed qfed 9@® C T &
a1 H feem € S 5 fas d SofEn T 2
THarstsh foe! = | 3R wfaa R 2, =ife
WF ¢ 9 ¥ fagsa &1 fomg =9ws ¢ =
wfedls T 99 #1 EiEE T g At
Y 91 Us Hares & =919 & gl r B A U

o Ui 9w 2e
:

[

= T

It R=— ||

Options :

40503642868.

40503642869.

one side opened long
¢  conducting wire loop
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By o

40503642870, T Rr
2u9 lol
40503642871, T Rr

Question Number : 15 Question Id : 40503611845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3

Anironrod of volume 10 ~ 3 m? and relative

permeability 1000 is placed as core in a
solenoid with 10 turns /cm. If a current of
0.5 A is passed through the solenoid, then

the magnetic moment of the rod will be :

Options :

40503642872, 2% 107 Am~

40503642873, 20 % 10° Am=

40503642874, 500 107 Am?

40503642875, U-5 %10 Am=

Question Number : 15 Question Id : 40503611845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

10 3 m? AT TE 1000 FTfeF =y
F U e ol B &l U TANCAH J FHIE
o1 T T T | i T W T e
10 Fi/cm &1 AT 05 A =W wfeferH |
Yelfed &1 94 @ BT FH TEEHE A
&

Options :

40503642872, 2 X 107 Am~
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40503642873, 20 X 107 Am=

40503642874, 500x 10% Am*

40503642875, -3 %10 Am=

Question Number : 16 Question Id : 40503611846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The correct match between the entries in
column I and column 11 are :

1 11
Radiation Wavelength
(a) Microwave (i) 100m
(b) Gamma rays (i) 107 m
(€) AM. radio (iif) 10" ¥'m
waves
(d) X-rays (iv) 10 °m

Options :
40503642876, ()-(1V), (b)-(i), (c)(1), (d)-(iii)

40503642877, (@)-(1), (b)-(iii), (c)-(iv), (d)-(i1)
40503642878, (@-{ii), (B)-(i), (€)-(1), (d)iv)

10503642879, @D, (B)-(1), (c)-(iv), (d)-(iii)

Question Number : 16 Question Id : 40503611846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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gcollegedumag
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ m



T [ a1 1 giafedi % == wed foaem
&

I 11
TafasTor EERIEa]
(a) W T (i) 100m
(b) e fei (i) 10~ 5m
() wuA e a (i) 10 m
(d) X-Ferui (iv) 103 m

Options :
40503642876, (@)-(1v), (b)-(ii), (c)-(1), (d)-(iii)

40503642877, (@-(1), (B)-(id), (€)-(iv), (d)-(ii)
40503642878, (@)-(1i), (b)-(ii), (c)-(1), (d)-(iv)

2050362576, (@i ©F), (©-(iv), (-G

Question Number : 17 Question Id : 40503611847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegedunlas
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



Two coherent sources of sound, 5{ and 52,
produce sound waves of the same
wavelength, A=1 m, in phase. SI and 52
are placed 1.5 mapart (see fig). A listener,
located at L, directly in front of 52 linds
that the intensity is at a minimum when
he is 2 m away from S,. The listener
moves away from 5, keeping his distance
from 5, fixed. The adjacent maximum of
intensity is observed when the listener is
at a distance d from 5. Then, d is:
T,
Vg

nl-'{?}}ﬁ KK
= §

Options :

40503642880,
40503642881, 2™

40503642882, & M

(=1}

40503642883, @ M

Question Number : 17 Question Id : 40503611847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2 FAHEG H AW, S, R S,, FAA W
A=1m Td HF Fell %1 =1 T T2 F:d
F1S, @RS, WM IS m AW WM
T € (fomt 2fid) | u g, S 6 S, & St
A 2 m g0 W L W e ®, dga g6
AYA 21 ANS, WA T TAF S, W
! g TEE & Wl ¢ g =S, §
d T W & T ditera Aieehe sfereRes a2 |
al d 1 9H &

Options :

40503642880,
40503642881, 2™

40503642882, O M

(%1}

40503642883, @ M

Question Number : 18 Question Id : 40503611848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A radioactive nucleus decays by two
different processes. The half life for the first
process is 10 s and that for the second is
100 s. The effective half life of the nucleus
is close to :

Options :
40503642884, 12 sec.
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‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ m



40503642885, 22 S€C.
40503642886, O Sec.

40503642887, 2 ¢

Question Number : 18 Question Id : 40503611848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

U AT AT9F a1 -6 qinars
4 Tofeq 2 &1 vecl WisF 1 A9 10s T
ST T H 100 s T W AGF H FuEt
ﬂiﬂﬂﬁﬁ.ﬁqqﬁ?

Options :
40503642884, 12 sec.

40503642885, 22 Sec.
40503642886, O Sec.

40503642887, ° Sec

Question Number : 19 Question Id : 40503611849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Two Zener diodes (A and B) having
breakdown voltages of 6 V and 4 V
respectively, are connected as shown in
the circuit below. The output voltage V
variation with input voltage linearly
increasing with time, is given by :
{Vinpuﬁ[] V at t=0)

(figures are qualitative)

& B |
AT v 5 ER=4000 T

' av 2
21000 l
v ]
Options :
vV, 6V
= R S e 4V
40503642888. time—
VU
P 4V
e
7
40503642889. time—
V, / 6V
f//,
//
/.-"
40503642890 e —
Vu By
e 4V
40503642891. time—

Question Number : 19 Question Id : 40503611849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option - ™~ %~
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A= 2914 T 9fTqy H HH9: 6V UE 4 V |9
dieedl 91l 21 S EEE (A UE B) Sg T
g1 fas gfem Faw deea ® 999 &0
forfa e v, & e sod fem s E
(t=0R VH A Ve =0) (T Gohere
)

T ke ol # T
ATS v 7y TR=4000
v 4V vV

mn (4]

%nmn

Options :

9y —
40503642888.

Q

4V

40503642889. e —

v, 6V

40503642890 =

40503642891, N —

Question Number : 20 Question Id : 40503611850 Question Type : MCQ Option Shuffling « Ve
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A galvanometer is used in laboratory for
detecting the null point in electrical
experiments. If, on passing a current of
6 mA it produces a deflection of 2°, ils
figure of merit is close to :

Options :
40503642892, 066° A/div.

3 '
40503642893, 6% 107~ A/div.

3 .
40503642894, 2 X107~ A/div,

40503642895, 337 A/div.

Question Number : 20 Question Id : 40503611850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

TANTIEN H UF feoAmieT & 3TEnT o
T H 9 989 99 9 & ford e s
21 42 6 mA Ht YT WEIfEd F99 T SHHE 2°
%1 fagy Iooe €@ 2, o TS SwdiE
(figure of merit) T 2
Options :
40503642892, 0666° A/TETT

- ; s
40503642803, 0 X107 A/Tef

3 =
40503642804, 3 X 1073 A/Tefasm

333° EHEEE!
40503642895. 25374/

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2
405036834
Yes
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Question Number : 21 Question Id : 40503611851 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg is driven by an engine
delivering a constant power of 1 J/s. The
body starts from rest and moves in a
straight line. After 9 seconds, the body has

moved a distance (in m)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 21 Question Id : 40503611851 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

2 kg 1 U T T S99 GRI HIferd & o T
1]/s %1 90 ofe weA = w1 98 95
Tropraren § oA 2wl Yo § =ed

=y

Qsﬂﬁaﬁmﬁﬁﬁﬁ(mﬁjm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 22 Question Id : 40503611852 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
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A thin rod of mass 0.9 kg and length 1 m
is suspended, at rest, from one end so that
it can freely oscillate in the vertical plane.
A particle of move 0.1 kg moving in a
straight line with velocity 80 m/s hits the
rod at its bottom most point and sticks to
it (see figure). The angular speed (in rad/
s) of the rod immediately after the collision
will be

Im
. |l
—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5to0 5.002

Question Number : 22 Question Id : 40503611852 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

0.9 kg =09 TS 1 m oS i TF Taal
TT A UF A F U e R fF
T gAT A fa0M § =ad T i Gl
F1 0.1kg 1 TF F 80 m/s i T H H=T
T T Fed 5 92 & Hay fad fe 9 7
7 394 forg = ¥ (fo=t SfEw) | 59 =59
% Td 9% BT &I FIUG A (rad/s H) B0

|

I

1m

v 1
-—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 23 Question Id : 40503611853 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Nitrogen gas is at 300°C temperature. The

temperature (in K) at which the rms speed

of a H, molecule would be equal to the rms

speed of a nitrogen molecule, is

(Molar mass of N, gas 28 g).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 23 Question Id : 40503611853 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e 9 300°C AIHE W G T E | 97
T (K ), o9 o gsgisd 3o &1
F-HIF-H& (rms) 97 AGZEH AT F -
HIeg-Te 7 % TR B, 8 1

(N, 749 =1 Hier =99H 28 g 7)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 24 Question Id : 40503611854 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

gcollegedunlas
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ m



A prism of angle A=1" has a refractive
index w=1.5. A good estimate for the
minimum angle of deviation (in degrees)
is close to N/10. Value of N is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 24 Question Id : 40503611854 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
uw firss, foaes verd =1 spuadAiE 1.5 €, &
FINA=1°T| I0F A= F1 F1 FFzam
strper (Terlt #) N/10 €M N 1 99 2
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 25 Question Id : 40503611855 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The surface of a metal is illuminated

alternately with photons of energies

E,=4eVandE,=2.5eV respectively. The

ratio of maximum speeds of the

photoelectrons emitted in the two cases is

2. The work function of the metal in (eV)

is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 25 Question Id : 40503611855 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

UF G F1 HaE HHW: E, =4 eV 3N
E,=2.5 eV &1 sl % Ml R Wiy =i
It & | 59 &1 Fearfedi § Soafia werer-soEe A
1 sAftrspam Tfcal o1 S 2 ¥ 1 5 oI 6
FH T (eV H ) B l
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
5to 5.002
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